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IV Semester B.Com. Examination, May/June 2010
(Semester Scheme)

COMMERCE
(Paper 4.4) : Financial Management

e) Initial investment ofRs. 20,00,000, scrap value ofRs. 4,00,000, working life
is 5 years, additional working capital ofRs. 2,00,000. Calculate average
investment.



2. Explain the kinds of working capital.

3. Write a brief note on the motives for holding cash.

6. Explain the difficulties in capital budgeting.

7. Briefly explain the different types of dividend.

8. Determine the 3 types of leverages from the following information.

Selling price per unit Rs. 10

Vari~ble cost per unit Rs. 6
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9. A company is requiring a machine which requires an investment ofRs. 1,60,000.
The net income before tax and depreciation is estimated as follows:

Year Rs.

1 56,000

2 48,000

3 30,000

4 64,000

5 80,000

Depreciation is to be charged on straight line basis. The tax rate is 40%. Calculate
A.R.R.
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Answer any three of the following. Each question carries rrfteen marks. (3xI5=45)

10. What is Financial Plan? What factors determine financial plan? Explain.

11. What is Dividend Policy? What factors influence dividend policy? Explain.

12. Explain the factors determining the working capital requirements.

13. ABC Limited has under consideration two mutually exclusive proposals for the
purchase of new equipment.

Particulars

Net cash outlay (Rs.)

Scrap value
Life (years)
PBDT (Rs.)

1
2

3
4
5

Machine Machine

X y

1,00,000 75,000
NIL NIL

5 5

25,000
30,000
35,000
25,000
20,000

18,000
20,000
22,000
20,000
16,000

Note: PBDT = Profit before depreciation and tax.

Assuming the tax rate to be 50% and suggest the management the best alternative
using. P.v. factor 10% are as follows:

Year P.V. @ 10%
1 0.909
2 0.826
3 0.751
4 0.683
5 0.621
Calculate:
1) Pay back period
2) Net present value.
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14. The capital structure of ABC Ltd. consists of the following securities.

10% Debentures Rs. 5,00,000

12% preference shares Rs. 1,00,000

Equity shares of Rs. 100 each Rs. 4,00,000

Operating profit (EBIT) ofRs. 1,60,000 and the company is in 50% tax bracket.

2) Determine the percentage change in EPS associated with 30% increase and
30% decrease in EBIT.

1. om~~dM 10 ~~1i~rt ero~o~.~~ ~~2 e;}o~1iejJ. (10x2=20)

a) ~'dJ ~~ wodo~~ ?

b) 'eJd~1id ~~o~ c;jd~ wodd~~ ?
Q

c) N~ ej ~~~ ~~d ~~dd ~~d d~ e~~ o~dwO'eJ N~FdiS~ a5~rt~W~~wO?

d) ~~ 1iO~~~d~<wodd~~ ?

e) ~doz;3d~~~ OR. 20,00!000

~~o::b ~~dd ~~ M. 4,00,000. ~o:bFN~ ~cm~5 ~F, a5~z.:j~OZ5V~ 'eJod~ej

~. 2,00,000. ~O'ei~O~~~oj)~ ~o'dJ~~~o.
0{

1) ~ndJ ~~of))w~o:b wd'dJ erod~~1iej~ ~~N.Q 0{

g) 05~~Ab N~F05~ wodd~~ ?

h) ~M)~ N~F05~o:b e;}~F~~ N~~.
~ 0{

i) ~~ 'eJo~~ej N~F05~oj) wd'dJ rbonej~ ~~N .
..J) <i.

j) ~z;klo~d e;}~F~~ ~~.

k) ~~~i:1 ~~ wodd~~ ?

1) ~o1iej ~d~~ wodd~~ ?



am~~ddrc> 5 ~~rl~rt eJ\)~b~.~~ ~~rt 5 ~~rl~.

2. Wf)eJ 'Wodwv~d ~~rl~~ .w~b.lJ.
.JJ <>l

3. ~~ &~O~~~,c3 eJ\)c:;j~!1rl~'Wrtt"o~ ;t:Jo6~c3doo::b~ 'WO~b.e.J ••.. Q () ~ <>l

4. .~~;x:b fWo:bFd eJ\)c:;j~!1rl~~;t:Jo6~wvl'\~~.lJ.
Q <>l ~

5. <5~;x:b rorc,~t:;c:So::b~rl~~ ;t:Jo6~~l'\ ~~.lJ.
<>l ~

6. ZJodc;r.)~~orld ~d Modorl~ c3~F.lJb.

7. ~'2;Te)o(jd.w~~ cd,ut)drl~~ ;t:Jo6~wvl'\.wc3b.lJ..../ <>l ~

8. ~~rtut)~.lJd .w~dd etjrVdd ~~ej ~dJ .w.wQ;t:J~rl~ 'do~&'~~b.

~o~ o:i:x)NM~c;m~wd ~ej drc>.10

~o~ o:i:x)NM~'Wd~r0~ q;S~drc>.6

.lJdq;S25 1,20,000
Q td

~~'d'COV10d~~ 'Wod~~3,00,000

~~wwvd o:i:x)N~rl~ 90,000

9. ~o~ 'dO~Nrt t"o~ o::b~ ~~ut)l'\~d. e o::b~~ 'Wodwv~ drc>.1,60,000 ~~ut)l'\dJ~d ~
~ o::b~ood ~brt ~ ;t:J~~M ~dw &l ~~od~ ~~ ~~o::be3~ ~o~~;t:J~l'\c:;j.

d~r ~.

1 56,000

2 48,000

3 30,000

4 64,000

5 80,000

;t:Je3'd~o::b~c:3~de~dd ~~ej NQFb;t:J~l'\c:;j.~brt dd ~~'d'COV40 el'\~c:;j.
~ .JJ

&l rorc,~Z;$c:So::b;t:J~;t:Jbddc3~ 'do~&'~oo')b.
<>l
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o.m~~dM3 ~~rl~rt <:J\)~C~.~~ ~~~ 15 el~rl~. (3xI5=45)

1O. <5~Ab ~~~c:$ wodd~c::b? ~ ~~c:$Qj)~ N~F'CAb~ eo~rl~ o:m~~ ? .;;)~c~.

11. ~~~ N~~wodd~c::b? ~ N~~Qj)c;i)~~~~~ ~~dJ~ elO~3rl~o:m~~ ? ;)~C~.

12. d)t2o:m~ 2Jol::ie;j.)~c::bN~F'CAb~ elO!Jrlfjc::b.;;)~c~.
<\ <\

13. w~ ~ ~.;;).)~~ ~o~o:m ~ ~f\C:$ wdd:> arl~d ~~arlt2Ab~~<5 ~ ~f\C:$ ~~ Qj)1".-i r-I ~~d£'@rl~~~ w ~~ <\

~c~o~o.~

o:bo~ o:bo~
X y

1,00,000 75,000

~v ~eJ
M M

5 5

N~ ~ ~d <5C~ (M.)

~~~~eJ<s

~~~(~F'rl~)

~~t2~(M.)

1

2
3

4
5

25,000

30,000

35,000

25,000

20,000

18,000

20,000

22,000

20,000

16,000

~crt dd 50% wod) ~~~~~ ~~ ~ wdl::id~Mo:m~d) <:J\)~~ woWJ~ ~I::i~$~ NO~F'~~
N~t2.

N~ ~ ~eJ<sd elO~~~~~ 1O~~ ~~ol::i~ ~dJ~o.

;j~r N~e; ~~tS ~o510%
1 0.909
2 0.826

3 0.751

4 0.683

5 0.621
1) ~dJ~~~ el~O

2) N~~ ~~$ ~~rl~~ ~od;)&>t2~c.



~e'6~ 10dM)~ Qrl~rl~t)drd. 5,00,000

~e'6~ 12d~9~edJr(t,;bdrd. 1,00,000

M)~~ ~edJr(t,;b~eQirc)o~~. loodoi4,00,000

~~F"N~F"a5~~ ~o;;,o.t>(EBIT) Rs. 1,60,000 ~~d '60QrlNo.t>30rt dd 50% ~1\~O.
M ~

1) '6oQrlNo.t>~e~od> ~eo~ ~o;;,o.t>~~ '6odJ&t3~O (EPS).

2) tJt3~ ~e>rtAAc;:b)o~~ ~o;;,oi)d(EBIT) c:5.:>e~~e'6~30 zsv,!,) ~otlrl ~ ~e'6~30
G6 ~ ...J) ~

6t3c;i)o:mo;;,r('60QrlNo.t>~e~ ~eo~ ~i!t'tS~~ 'dodJ&t3~e>.

3) a5~~ ;ti~o.t>~'6odJ&~~e>......... .


